Mpgust 26, 1942

Denr Hilne,

I got your paper from Flnney, and of ocourse I at very glad
fur you to make use of the quotation from my latter.

About the blanket test, thera 1s quite a simple formulstlen
wnloh you might f£ind appllcable to your experience. BSuppose that,
in dragging the blanket, there 18 an accretion of a ticks per yard

s Porliod (o

on the average, and a loss E:p;;iinl_upnn the number of tlcke csrried
at the moment.

On this basis one has the differentlal equatlion

%I = B = Ky
x

where x ia the distance traversed, Y the number of ticke at any stage,
a the rate of amooretion measuring the tlok population of the pasture,
and k & factor representing the rate of loesa, and probably dependent
an tha roughneas of the pasture and otnsr sonditlons. FPutting in the

sonditlon that ¥ is O when x i1 O, ths solution of this differential

squation la -
l*%;r = ’H

sc that if one has valuea %%-i 3%% for ftwo valued of x, of whieh
the seocond is double the firet, one has the squation
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or simply

Using now the faat that the average number %& was attained after
25 yerds drag, one haes

H_EEt- 1—%

ar ];--2-15'—1:33’%*
whigh get into thse blanket

whence g, which measures the number of ticks per yard of pasture/ 18

i b log
43%x36%25 a % )

This comes to L2245 ticks per yard, or 3.061 per 25 yards, or
6.1225 per S0 yards, and so on.
This geens at least & logleal way of dealling with losa of tickas
in the gourae of the drag, and, as the arithmetic to vrioh it leads
is essy, I do not ese why 1t should not be used.

Yours sincerely,



